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I{L,ll N(, 1. write shorl notes on any three of the followlngi (5r3 = 15

marks)

a) T me Value ot monev

b) Colt of Retained Earnings

c) Op€rating L€verage

d) AgC Analysis

2. a) A Company purchased a machine 1 year ago for R5 18,000. At that time, the machine

wes estimated to have a uselul life of 6 years and no salvage value. The annual operaing

cost is Rs 20,000. A new machine hasjust come ln the market whlch willdo the samelob but

with an annual operatinE cost of only Rs 17,000. ThiE new machine will cost R5. 21,000 end

has a hfe of 5 years with no salva8e value. The old machine can be 5old for Rs 15,000, The

company uses the straiSht-line method of depreciation. The tax rate is 40%, Bnd the cost oI

capital rs 12%. Conlpute Net Present Value. Should the machihe be replaced?

(10 marks)

2. (b) txplarn the factors which should be taken into account while makrng a capital

budgeting decrsron?

l5 marks)

3. {alCritically evaluate the Nland NOI approach to capltalstructure. (10 marks)

3. (bl Ihree frnancin8 plans a.e being considered by A8C ltd. which requrres Rs 10,00,000
for constructlon of a new plant. lt waots to maximtze the EPS and the current market pnce of
the shar€ is Rs 30. lt has a tax rate of 30% and debt financinB can be arranged as follows:
Up to Rs 1,00,000 @ 1O%; from Rs 1,00,000 to Rs 5,00,000 @ 14%, and over Rs S,O0,O00 @
18%. The three tinancin8 plans and lhe cor.espondin8 EBIT are as follows:
Plan l: Rs 1,00,000 debrj expected EBtT Rs 2,50,000
Plao ll: Rs 3,00,000 debtj expected EBIT Rs 3.50,000
Plan rll: Rs 6,00,000 debt;expected EBIT Rs 5,00,000

find out the EPS for all the three plans and suggest which plan is better from the pornt of
view ofthe company. (5

marksl

4. (a) How does the financlal decl5ion'making lnvolve a risk-return trade-oft?

marks)

lnstruct rons for Ca idates

I wrte your Roll No. on the top immediatelY upon r€celpt ofthe question paper

I Atterrp! fiv€ queshons including qu€stion no l which is compulsorY to attempt

i Anempt all parts of a queshon toSethea

r N-l.rkt are indicat€d against each qu€sbon,

i Show your workinS clearly on the answer sheet.

I (lse o{; norn)alcalculator is allowed
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4. (b) €xplain how the tcope ofthe finance function has changed over time whetroledoes

a finance manager play in a modern firm? {5

mark.)

5. (a) A tirm had paid divid€nd at *2 per share last year The estimated 8rofih of the

dividends from the company i3 €stimated to be 5% p.a. Determlne the estimated market

prre ofthe equitv share if the eshmated growth rete of dividends (i) .ises to 8% 3nd (iilfalls

to 3%. Also Iind out the present marlet price of the lhare, given that the requked rate of

.eturn of the equity lnveslors i9 15.5% and comment.

(10 marki)

5. lb) Explein any one of the cash mana8ement lechniques: tock Box System or

concentretion BankinB

{5 marksl

6. lal The management of Royal lndustries has called for e statement showinS the working

capital to finance a level of activity of 1,80,0@ units of output for the year The cost

structure for the company's product for the above-mention€d aativity level is detailed

belowr(10 ma.ki)

Rs 20

0kect Labour fls5
overheads includin d ciation of Rs 5 Rs 15

Profit Rs 10

Sellin Rs 50

Addltional intormation:

(o)Minimum de5lred ca5h balance ls Rs 20,000.

{b) Raw materials are held in stock, on an avera8e, for two months

(c) Work-ln-progress (asrlme 50% completion stage ln respect of all elements) will

app.oximateto half-a-month's production.

(d) finished goods remain ln warehouse, on an ave.age, for a month.

{e) Suppliers of materials extend a month's credit and debtors arc provided two montht
.redat:cash 9el€s are 25% oftotalsales.

tfi There is a time-lag in payment of wages of a month; and h.lf-a-month rn the calE ot

From the above facts, you ere required to prepare a statement showing working c;rprrar

6. (b) What do you mean by EOQ? Discuss the assumptions underlvinSthe basrc toQ Mod.l

(5 marks)
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Cost per unit

Rs 40Total


